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Topic:- General Knowledge

1) The Disaster Management Institute (DMI) was set up in the year by the
Government of Madhya Pradesh. /

AA YA GRIAY ¥ MU Yo TR (SITHSATS) Pt RITYT Bt TS A
1. 1987
2.1972
3. 1956
4.1982

Correct Answer :-

« 1987

2) Name the city in Madhya Pradesh where the Dhrupad Samaroh is held annually. /

AU & I X BT A Ta13¢ 81 YAP a4 §Ue URIE $T STaiei fbar orar 82
1. Ujjain / Iooi

2. Bhopal / HOTd

3. Jabalpur / SISCTYR

4. Indore / $GR

Correct Answer :-

» Bhopal / e

3) Name the UNESCO World Heritage site built to commemorate the Golden Jubilee of Queen Victoria. /
T faaeifear &Y wftta sridt w=mm vq fAfda fore o gt & fay fammaa =i &1 = Tang)

1. Gateway of India / TTed 31w E%QT

2. Victoria Memorial / fageiar Amifad

3. India Gate / mﬁ?

4. Chhatrapati Shivaji Maharaj Terminus / FAUfS FRrarsht HeRrm efifTa

Correct Answer :-

« Chhatrapati Shivaji Maharaj Terminus / Sufd fRrarsf HEIRTYI e

4) Name the first wildlife reserve in India to get an Official mascot. /
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SMTUBTRD JUBT UTW B aTet URA & U T=Ieilg ¥old BT AT Ja13¢|
1. Ranthambore National Park / TUTU‘J-ﬁT Q’I@’q 3

2. Corbett National Park / BISC ?‘I@’q 3
3. Kanha Tiger Reserve/ PTGl CITR frord
4. Sariska National Park / JRI®HT T@U 3

Correct Answer :-

 Kanha Tiger Reserve/ Il CITR frord

5) Name the scheme launched in 2018 by Madhya Pradesh Government to subsidize power for labourers and poor
families. /

[ 3R YT ufvari & forg foerelt afSrS) 3 3 e ue=r i §RT 2018 § IRE B 18 TT BT 410
T E?

1. Mukhyamantri Khet Teerth Yojana / H@Fﬁﬁ Qd e e

2. Sambal Yojana / Tad g

3. Krishi Rin Samadhan Yojana / ?ﬁf A1 GHIYT Al

4, Pradhan Mantri Krishi Sinchayee Yojana / PEISEp] ?ﬁf ﬁﬁﬂ’iﬁ groHT

Correct Answer :-

« Sambal Yojana / d&d BISEI]

6) In 1931, the Resolution on Fundamental Rights and Economic Programme was adopted at which session of the
Indian National Congress? /

1931 ¥, HRAIT AEH H1A9 & oo siftrawr & /it sfterY ofik wsdta snffes Srdshl & ywaral &t
ST 74T AUT?

1. Calcutta / Dl
2. Delhi / f&eett
3. Karachi / B

4. Wardha / 34f

Correct Answer :-

« Karachi / BT

7) Madhya Pradesh government has conferred the 2018 National Kalidas Samman to: /

A TN WP GRT 2018 H AP Biferary TR A fod grmfra fomar
1. Maisnam Kaminikumar Singh / AH Wﬁ:ﬂw ﬁl—ﬁf

2. Anjolie Ela Menon / 3fSrelt g A

3. Prabhakar Karekar / THT®HR BB

4. Haricharan Bhuyan Borbayan / BRERA I+ CIRCRE]

Correct Answer :-
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« Anjolie Ela Menon / 3iSTret gaTﬁ:FT

8) The Lotus Temple in New Delhi is a place of worship for which faith? /
feeeht A fRya Fra wfR (@ew T 5 o & srganfal 1 ufaa wa @2
1. Zoroastrianism / TRE! &

2. Bahai / 9818

3. Judaism /q—grﬁp[ ef

4. Jainism / I &

Correct Answer :-

. Bahai / 98T

9) In 2017, world’s oldest algae fossil was discovered in which part of Madhya Pradesh? /

2017 ®, T USRI & fpa 7 ® gferar &1 wa @R Rara sitarzw @i
1. Chitrakoot / W

2. Panna / U1

3. Tikamgarh / [EC2Hr
4. Shahdol / TESIA

Correct Answer :-

« Chitrakoot / ﬁ'ﬂ@

10) Who is the Chairman of Madhya Pradesh State’s, General Body of Rajya Anand Sansthan? /
A YN I | T4 TG WM & A o™ & 31es $1H 32

1. The Chief Minister of the State / ToT & FRAHAT

2. The Chief Secretary of the State / X[sg & qJe0 GIEE

3. The Governor of the State / XTSUUIc]

4. The President of India / HRd & ?TEA'CIﬁT

Correct Answer :-

« The Chief Minister of the State / X0 & !

11) Who is the author of ‘Deep se Deep Jale’? /
U fuSd & TR DA F?

1. Bhagwan Datt Sharma / HITdT- g JET

2. Makhanlal Chaturvedi / RG-S El_cﬁ_cﬁ

3. Rahat Indori / XT8d SR

4, Atal Bihari Vajpayee / 3cd IERIE CIS LR

Correct Answer :-
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« Makhanlal Chaturvedi / ARG dgdal

GET IT ON
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12) The agreement on monetary policy framework between Government of India and RBI targets which one of

the following options? /

YRd TWPR 3R AR F S Afge i o= w gusia o1 Fafafad el § 9 o9 9106 789 82

1. Inflation / H?I?q'ﬂﬁ
2. Unemployment / SRISATR]

3. Poverty / URIE]]
4. GDP / Sfi&Idt

Correct Answer :-

« Inflation / H’S{‘Iﬁﬁ

13) Who among the following is known as ‘Metro Man’ of India? /
fFrafafaa 7 9 f5d yRd & A 89 & U § 91 S1ar 82

1. Mr. Vinod Dham / 4t faHig &

2. Mr. E. Sreedharan / &Y _ig’}ﬁ?ﬂ_"f

3. Mr. M. Visvesvaraya / gium. fagsiar

4. Mr. Man Mohan Sharma / &t n’mﬂ’e’:{ Taf

Correct Answer :-

« Mr. E. Sreedharan / & %&ﬂ‘cﬂ‘-—[

14) Barren island, the only active volcano in India is located in: /
R §u, yRa § v Afhy ATt Fei R 82

1. Ritchie’s Archipelago / Rt m

2. Andaman & Nicobar Islands / 3fSHM 3R fAdER @‘TWT‘LB'

3. Lakshadweep Islands / TT&Tg T dJHg

4. Labyrinth Island / afsy (%@HT) EAL

Correct Answer :-

. Andaman & Nicobar Islands / 3fSH 3R FHER m

15) Charminar is located in which city of India? /

HRA & f5a TR A IR HAR fRUa 82

1. Agra/ AITRT
2. Delhi / faeent

3. Bengaluru / ST
4, Hyderabad / %GQIQ qQ
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Correct Answer :-

« Hyderabad / %EQIEI Q

16) Which of the following institutions launched India’s first Integrated Control and Command Centre in Madhya
Pradesh? /

fFrafafea 3 3 fra S 3 7 1w § URA & Uy TSigpd T ok wu g 1 JURY fEar
1. Indian Institute of Science, Education and Research, Bhopal / YR ﬁsﬂ:f, fRrem 3R 3{'}‘3 YT IR, T
2. Indian Institute of Technology, Indore / YR Wrenfiet TR, 3@?

3. Bhopal Smart City Development Corporation Ltd. / Hrore W1¢ R4} Saaude suReF fafies

4. Maulana Azad National Institute of Technology / EISIE] SISIH QT@H MeNfe! TR

Correct Answer :-

« Bhopal Smart City Development Corporation Ltd. / Hiaret Te et Saaudic HIURH fafties

17) Which of the following states has not joint ventured in Banasagar Dam Project? /
VTR giY gRaeET § Fafeafed & § $19 91 3w 9ged 39v T8 82

1. Chattisgarh / ETtﬂWTGT

2. Madhya Pradesh / H&] LA

3. Bihar / fd8R

4. Uttar Pradesh / &R USRI

Correct Answer :-

« Chattisgarh / EISIESH

18) The Howrah Bridge in West Bengal is built across which of the following rivers? /

uf3 sre A grast o fpw Tl s T e
1. Hooghly / E‘Wﬁ

2. Mahanadi / HgTFIG!

3. Brahmaputra / SSeTg

4. Jamuna / STHAT

Correct Answer :-

« Hooghly / ETl?ﬁ

19) The Smart Cities Mission (SCM) was launched in the year ./
e Rt e oefiemy slad . o 3= frar mam

1. 2015

2.2017

3.2018
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4.2014

Correct Answer :-

« 2015

20) The mission aimed at providing shelter equipped with essential services to the urban homeless in a phased
manner is: /

5 o &1 SERg WUES TP | e TR A DI STaad Aa13il Jod YT YT H1 82
1. National Urban Livelihood Mission (NULM) /
TPt e SehfeT e (T
2. Heritage City Development and Augmentation Yojana (HRIDAY) /
fargd weR fae SiR fawar aieT (geq)
3. North Eastern Region Urban Development Programme (NERUDP) /

YAtk &% e3) AT BrishH (TS 3RgS )

4. Atal Mission for Rejuvenation and Urban Transformation (AMRUT) /

3T TAIHRUT 3R e uRac A= (3rgd)

Correct Answer :-

« National Urban Livelihood Mission (NULM) /

RIS et SrefifaeT AR (TgueH)

Topic:- General Hindi

1) F-Srwfd s e dd s A
1. FIbrg
2. ey
3. AispH
4. Fom

Correct Answer :-

2) SR Wg BT - geTar &1 o i pa A s e
1. 9 Fepe ST

2. BT8 A% A FeH IR ST N FHTa

3. Ueb B R WR U gl

4. &1 Y I HAT HR GAT

Correct Answer :-

. P13 I A A TR IFH1 Y Febrer
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3) YA - BT Y5 U FFE I DA 32
1. 4dd

2. qYTaq

3. qYad

4, YT

Correct Answer :-

. gYraq

4) Ygadl- ¥ U & Q 9 a1 auE 82
1. FHYRY A

2. 56 9

3. 9gsilie THN

4. fgp9u

Correct Answer :-
. feg e
5) 3T ITT /I g FrU A A PIT A 82
1. 3t
2. SHITT
3. S{THRTT
4. 3{DPRU

Correct Answer :-

o SR

6) B - T 7 & | B 1 9 faarT 2rsg 32
1. feR
2.
3.dR
4. 1R

Correct Answer :-

7) Bra-dfmddsaTaaN g 2
1. PHYRT THY
2. 69U

3. 9gsiife Ia™
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4. fgT7 ey

Correct Answer :-

8) iR T T R WIa 71 82
1. fayrr

2. SR fawges 3fa

3. YT

4. 3TRAT

Correct Answer :-

. 3R fawges 3fa

9) AP eT - & fore wg wft fasde &t gfw
1. gH+h ey

2. gH+hdy

3. +dhed

4, JH+H U

Correct Answer :-

10) fhev - & forg Tt wft fawde 1 gfw
1. foraR
2. fpmax
3. feqrau
4. oo

Correct Answer :-

. fomaR

11) G- BT g ©U R A B 32
1. =3

2. AT

3. A

4. o

Correct Answer :-
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12) St 91¢ § USRI 7 & o v g P A A ST AT R?
1. STRIYB
2. SRIYDBRY
3. SRIMYBRY
4. IARMYBRY

Correct Answer :-

13) R BT AR AT 3 & o v g P A A H AT R?
1. %0ft

2. 3B

3. 3B

4. 3FTHTT

Correct Answer :-

14) HT¢d & g Wt vafgarh aret 2t &1 dfea &1 g1
1. 3T, e, HA |
2. 3, HIgH, HANT |
3. 3T, Hed, TN |
4. 3T, HEH, AT

Correct Answer :-

o 3T, Hed, HA |

15) Higf arafa, g efa, siffafy 9 querfa

tfy gemafa R, oM smafa wnfa | - AP A A ST 2
1. YA

2. Yfda |

3. I X

4, PR

Correct Answer :-

. YR

16) TR ¥ e W vafgarh arat 2rsgf o ufda &1 g |
1. e, e, 181

2. e, Fodd, T8
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3. 9¢d, Fdaq, 8|
4. 9164, R a, g1

Correct Answer :-

. e, Adad, 181

17) 3 - Yoo | 1 g P A A B AT R
1. 3fd:

2. 3R

3. 3ifaw

4.3cd

Correct Answer :-

18) H&UI - BT g & A B 71 9 faeia wree 22
1. IR
2. fAsgR
3. AR
4. FARR

Correct Answer :-

19) 39 HSUN Hid ged |,

it fawa e aoredt | - & B & @ 19 91 erdeR 32
1. Y SEADBR

2. JH® 3MTDPR

3. U 3(TDR

4. SUHT 3ABR

Correct Answer :-
. 3IUTY 3FBR
20) 3 guet a3, B! ARl BE|
- B e ¥ @ I 1 PR 32
1. TAY DR
2. JH® 3MTIDPR
3. 3JUNY 3P R
4. SUHT 3ADR
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Correct Answer :-

- 3IUTY SABR

Topic:- General English

1) Choose appropriate articles for the given sentence:

I enjoy reading comics in Times of India, English daily newspaper that
was first published in 1838.

1. the, the, a

2.q, the, a

3. the, the, an

4. the, a, the

Correct Answer :-

. the, the, an

2) Choose the correct form of modal auxiliary verb for the given sentence:
Allofus _____ plan to go for a holiday when we get a long weekend off.
1. would

2. need

3. should

4. used to

Correct Answer :-

« should

3) Choose the option that correctly sequences the following sentences:

. Some of them are bigger than houses.

. Ships sailing near southern New Zealand have been warned of icebergs.

. One iceberg, reported by a fishing boat was 200 metres long and 50 metres high.
. They are found mostly near South Island's east coast.

AW N -

1. 1234
2.2134
3.4231
4.4312

Correct Answer :-

« 2134

4) Choose the correctly punctuated sentence:
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1. India, celebrates its Independence Day: on 15 August every year.

2. India celebrates its Independence Day on 15 August every year.

3. India celebrates, its independence day on 15 august every year!

4. India celebrates: its Independence Day on 15 August every year.
Correct Answer :-

« India celebrates its Independence Day on 15 August every year.

5) Choose the option that best explains the highlighted expression:
The new rules in the country give businesses a leg up to face competition from other countries.
1. illegal sanctions

2. hindrance

3. assistance

4. a blanket right

Correct Answer :-

 assistance

6) Choose the appropriate conjunction for the given sentence:

he was the best candidate, he did not win the elections.
1. And
2. But
3. If

4. Though

Correct Answer :-

7) Choose the word that is opposite in meaning to the highlighted word given below:
I always postpone the evil day when I have to visit the dentist.

1. suspend

2. defer

3. respite

4. hasten

Correct Answer :-

« hasten

8) Choose the appropriate prepositions for the given sentence:

Each year, thousands ___ people suffer life-threatening diseases.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

1. among, out of

2. across, of
3. of, from
4. of, against

Correct Answer :-

« of, from

9) Spot the error in the given sentence and choose the option that rectifies it.

One of my best friend is a witch.

1. One of my best friend are witch.

2. One of my best friend is a witches.
3. One of my best friends are witch.
4. One of my best friends is a witch.

Correct Answer :-

« One of my best friends is a witch.

10) Choose the appropriate option that changes the given sentence into passive voice.
When will you return the book?

1. The book will be returned by you.

2. The book will be returned by you when?

3. When will you return?

4. When will the book be returned?

Correct Answer :-

o When will the book be returned?

11) Choose the appropriate option that rewrites the given sentence in active voice.
My pocket has been picked.

1. Someone has picked my pocket.

2. Someone has pocked the pick.

3. Someone has pick pocketed my pocket.

4, Someone has picked pocketed me.

Correct Answer :-

« Someone has picked my pocket.

12) Choose the appropriate form of the tense for the given sentence.

By the time they the station, the train
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1. reached, had left

2. reach, left
3. had reached, left
4. had reached, had left

Correct Answer :-

« reached, had left

13) Choose the appropriate form of the tense for the given sentence.

These grapes sour.
1. is tasting
2. was taste

3. taste

4. tastes

Correct Answer :-

* taste

14) Choose the appropriate prepositional phrase to complete the given sentence.
__ your request, we regret to inform you that it is not possible.

1. With regard to

2. With regards to

3. By regard to

4. By regards to

Correct Answer :-
« With regard to

15) Choose the most suitable determiner for the given sentence:

When John returned from school, _____ did he know that there was going to be a birthday party at home.
1. little

2. alittle

3. much

4. less

Correct Answer :-
o little

16) Choose the option with the appropriate prefix to complete the given sentence.

The cricket player timed hitting the ball. It flew over his head and reached the boundary ropes.

1. mis-
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2. un-

3. dis-

4. mal-

Correct Answer :-

17) Choose the option that best transforms the given sentences into one using an adverb:
The lights went out. The meeting had not ended.

1. Before the meeting ended the lights were going out.

2. The lights were going out while the meeting was ending.

3. The lights went out at the end of the meeting.

4. The lights went out before the end of the meeting.

Correct Answer :-

« The lights went out before the end of the meeting.

18) Choose the correct form of verb that is in agreement with the subject:

Every year in our school, the children who well in the final exams, awarded prizes during the Annual Day.
1. were performed, is
2. will perform, are

3. performs, has

4. perform, are

Correct Answer :-

o perform, are

19) Choose the correct form of the verb from the following options in the given sentence:
My mother from service three years ago.

1. retiring

2. retired

3. retire

4. retires

Correct Answer :-
e retired

20) Choose appropriate articles for the given sentence:

The environment of ___earth is ___great blessing for mankind.

1.an, the
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2.3, the

3. the, the

4. the, a

Correct Answer :-

Topic:- General Mathematics

1) A bullock cart is moving at a uniform speed of 16 km/hr. Find the time required to travel 356 km? /

g%wn?ﬁm%ﬁﬂaﬁwmmﬁwﬁaa@%l356%ﬁuﬁ1mﬁ$mwwm

1. 21 hours 70 minutes / 21 ©¢ 70 fe
2. 22 hours 15 minutes / 22 ¢ 15 i e
3. 22 hours 55 minutes / 22 ¢ 55 fFe
4. 22 hours 25 minutes / 22 "¢ 25 fiFE

Correct Answer :-

« 22 hours 15 minutes / 22 T¢ 15 fiFe

2) The distance of a point ( -6,-1) from y-axis is: /
y-31&l 9 fig (6,-) B G 3

1.2

2.1

3.5

4.6

Correct Answer :-

3) How many candy bars are there in a sack of 4 kg, if a candy bar weighs 40g? /

gfe TP $3 IR FT ao 40 T 8 a1 4 fFal & Ao o fpa-t Ht ar gift
1. 40
2. 200
3. 400

4. 100

Correct Answer :-

» 100

4) If a whale shark swims at a speed of 5 km per hour, then how much distance does it travel in 3 hr? /

gfe Uw gd IS Ul be 5 fomlt 3t ara & avedt 3, < g 3 6T ¥ fpasi g aa wRdl @2
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1. 10 km / 10 foreit
2. 50 km / 50 fobeit
3. 15 km / 15 fobedt
4.30 km /30 it

Correct Answer :-

. 15km/ 15 fope

5) Pretty travels 40% of her journey by foot and the rest by bus. If she has to travel a distance of 80 km, then find
the distance she travels by bus. /

e 3ra=it am BT 40% Ved 3R AT T9 §RT a9 Bt 1 Al 3 80 fomft i gt aa 3+t B, 1 S9d gRT
9 9 $1 T G B g [ B

1. 48 km / 48 fobeit
2.72 km /72 fordit
3. 60 km / 60 ot
4.32 km/ 32 fopult

Correct Answer :-

. 48 km /48 fHT

6) If an apple is used to represent 50 students in a class, then how many apples are required to represent 225
students? /

Tfe T B A 50 BE] B1 UfafAfia w9 P fore v A9 1 U f5ar Sirar 8, dt 225 ) &1 ufafafua
P31 & fore fra Qe #t smazgdar gl

1.4.75
2.4.25
3.4

4.4.5

Correct Answer :-

« 45

7) A pacKket contains 14 containers. One container contains 8 capsules. If there are 23520 capsules, then how many
packets are needed for packing capsules in the container? /

TH AFec W 14 T B |1 TP UTHA 0 8 Hoga € | i Tt 23520 Fga 7, a1 U A Sya 3o o & fog fvam
YPel @I ATaRgPHAT gHIT?

1. 110
2.210
3. 201

4. 2440

Correct Answer :-
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8) What will be the unit’s digit in cube of 69853? /
69853 & U1 H SIS BT 3 T G2

1.9

2.7

3.3

4.1

Correct Answer :-

9) Choose the correct equation with variable. /

TR e B GHIH1 BT T99 B |

1.30%< 140
£ - g8
28

; 3+t2x-1=0

4, 3%+ 120 < 180

Correct Answer :-

342(x—1)=0

10) For which value of k, the system of linear equations 2x + 3y =2k and 5x + ky = -2 has a unique solution? /

k & fore AT & fore, YR Teiiewor omel 2x + 3y =2k T 5x + ky = -2 & Sfga g 82

W
1. 2

2, k#4
3 k=8

13

4.

Correct Answer :-

11) If M is the midpoint between - 4 and 2, then write the integer for M? /
gfe M, - 4 3R 2 & §a Te weafag B, 9 M & fore guife fora

1. -1
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2.-2

3.0

4.1

Correct Answer :-

12) Find the square root of 23.04. /
23.04 BT TS FTd B |

1. 4.8

2.0.42

3.48.02

4,.2.2

Correct Answer :-

« 48

13) Which of the following pair of integers has their difference as -5? /
yuife ot Frafafed Sifsal & 9 feaer siav -5 32

1.-2,7

2. 6,11

3. 7,-2

4.3,22

Correct Answer :-

14 .
) The area of a parallelogram is 104 cm- and the height corresponding to a base is § cm. Find the

perimeter if the other baseis 9 cm. /
TS ARG T & aEha 104 FAET § 3K 3R & aegar A 8 d 8
sHehl gRTE A1 &, afeg 3= 3R 9 Far &

1. 48 cm / 48 T
2. 54 cm / 54 9
3. 56 cm / 56 I
4. 44 cm / 44 T4

Correct Answer :-

. 44 cm /44 QWY
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Which of the following is the coefficient of x in éxy? -117 /
fAFaAfarf@a d & &l 6xy? -11 3 x & IOIF 57

1. 6y

2
16) A drmum is ; full. If 30 litres more are required to fill it up, then determine the capacity of the drum. /

UEFETH% BRT §3T &1 I 57 &1 oRa & v 3N 3% 50 ofiex &1 Hawgsdr &, a@
57 T arAar AR +1

1. 331.3 litres / 331.3 e

2. 200 litres / 200 T

3. 150 litres / 150 Tex

%ﬁtres / %Fﬁ?{

4.

Correct Answer :-

« 150 litres / 150 Tlex

Find{‘z—ﬂxg}+ {ixi]_ /

2 7

(2x3)+ (2] mowmam

=1 w

4.

Correct Answer :-
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A_B and C are three numbers. B is g of A Cis 75 which is 30 more than A Find B. /

A.Bamcﬁmmﬁ%maﬁriaﬁc=?5§.a’rﬁ:A@r303ﬁa:’5‘|Bm
gl
115
2. 45
3.30
4.25

Correct Answer :-

« 15

19) Expand / faear FHifaw
(3z— 2y)*

) 9x24+4y? + 12xy
5 9x? — 4y? + 12xy

3 9x? + 4y® — 12xy

9x? — 4y? — 12xy

Correct Answer :-
9x% + 4y? — 12xy

20) axaxaxbxbxb can be expressed as: /

aXxaxaxbxbxbadl 58 37 & 3ffcuag X TFa b

1. 3ah
) a'h?
3. (ab)?

3+3
4. (@0)

Correct Answer :-

Topic:- General Science

1) When we lift a bucket of water, the force acting on the object is: /
W9 89 TP U A U U I} Y I3Td €, ot avg U HTd 9 gial @
1. Frictional force /WUTW

2. Muscular force /ﬁ?zﬁuaa
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3. Electrostatic force / fRIR 3ggd 9
4. Magnetic force /WW

Correct Answer :-

e Muscular force /ﬁ"x’ﬁq dd

2) Which of the following is a vector-borne disease? /
frforfEa # 3 o 3 Fur Te sider T Qe 9 e 82
1. Cholera / BT

2. AIDS / TgH

3. Malaria / HQRAT

4. Tuberculosis / TUfe® (Wﬁﬂ)

Correct Answer :-

« Malaria /nﬁﬁm

3) Which of the following structures has the information for the next generation? /
frfafea & & fee wxaseii & ure spTelt didt & fag s 82
1. DNA/@‘ U

2. RNA / 3IRTAU
3. Protein /Fh?ﬁ:f

4. Nucleus /W

Correct Answer :-

. DNA/SITAT

4) The strong and non-flexible connective tissue is i
ToIgd 3R R-arfien waish SHab Gl

1. tendon / el (é%:f)

2. cartilage / IUTRY (BTEfereT)

3. bone / TS (A1)
4. ligament / I (%Tlﬁ?f)

Correct Answer :-

. bone/Bgf(Eﬁ:D

5) is an unwanted plant in a cultivated field which competes with the main crop for nutrients, shelter and
sunlight. /

T Tl A &7 A qifesd TeT 31 I8 NS dwdl, MU 3R IR B AT & e g1 voaa &
a1y yfergef #ar g1

1. weed / WRYUAAR



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

2. field pest / fla Tt @lc
3. storage pest / HERU Dic

4, crop / HId

Correct Answer :-

« weed / WRYdAR

6) Calculate the number of atoms in 16g of He? [Atomic mass of He = 4.0u] /

He & 16 I § URATU[SAT 1 TQAT B 0T B2 [He BT UHTY] ST = 4.0u]
1. 24.09 x 10%8

2. 6.02x 107

3, 1.505 x 10%

4. 16 X 6.02 x 107

Correct Answer :-

. 2409 x 10%

7) The nucleus of an atom was discovered by: /

TS URHTY] & ATRIS &1 @ISl 59 gRT 31 T A

1. J.J. Thomson’s experiment / 191, YT UanT

2. Chadwick’s experiment / Jsfae wanT

3. Rutherford’s gold foil experiment / YEIPTS BT WUf Ui GAIT
4, Millikan’s oil drop experiment / fHfere @1 dd :{rtru?ﬂﬂ

Correct Answer :-

« Rutherford’s gold foil experiment / YERBIS BT Xqul goft gt

8) The chemical formula of rust is: /
1. FeClz

2. FeD

3. Fea0y

4. Fex03

Correct Answer :-

9) The length of a match box is measured by placing it on the metre scale. If one end is on 25.7 cm and other end is
on 29.2 cm, then the actual length of the match box is: /
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T AT ot fSfoan o darg, dex & 30R oR v@ &7 ardt oirdt 31 afe v Ry 25.7 it w3 Sk gy
29.2 W WR 8, ot wif ) fafaan &Y arwafas d@ers girft:

1.2.5cm /2.5 QA
2.3.5¢cm /3.5 9t
3.25.7 cm/25.7 9
4.29.2 cm/29.2 QAT

Correct Answer :-

.« 3.5cm/3.59H

10) The houses having outer walls made with hollow bricks will: /

1. be cheaper / T Eﬁ?[ % |

2. trap the air and keep the rooms cooler in summer / §dl CAR RS % 3R Tl # R B d8T Rad %I
3. get easily dismantle / S faafed gt oid %I

4. be stronger enough / 3P Holgd g %I

Correct Answer :-

o trap the air and keep the rooms cooler in summer / g4l CARRIIG] % 3R G B SIRI B ST T % [

11) If an object is placed in front of a plane mirror at a distance of 10 cm from it, then the image formed will be: /
gfe U avg, THAS Ul P A ST 10 A g9t W & et B, o e wfafda g

1. 20 cm behind the object / d¥] & Ul 20 I

2. 20 cm behind the mirror / GUUT & Ul 20 T

3. 10 cm behind the object / d¥g & Ul 10 94t

4. 10 cm behind the mirror / GUUT & UTS 10 JH!

Correct Answer :-

e 10 cm behind the mirror/a'thTasﬂﬁ@' 10 99t

12) Yeast is used for commercial production of alcohol and wine. To which category of microorganisms does it
belong? /

Wma?ﬂqﬁﬁeﬁaﬁvam%?mmm%mmm%ﬂ&mﬂﬁaﬁmwﬁw
e 7@ 82

1. Fungi / ®ddh

2. Bacteria / \_rﬂaTUl

3. Protozoa / Eha\_rﬁ\}ﬂ
4. Algae / ard

Correct Answer :-

o Fungi / PddH


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

13) An electric bell is placed inside a bell jar which is closed air tight. If the bell is ringing and the air is slowly
removed with the help of a vacuum pump, then: /

o fagga 98 & U 90 IR & 3ieR 341 741 o) gaTdg ¢ | afe 9 991 X861 ? 3R arg 3t fR-4R v Frafa
U9 ¥ Heg A gel faur wran 8, a:

1. The amplitude of vibration of the air column decreases / €4l TdY B HYT BT T gedl %I

2. The number of vibration of the air column decreases / 8al ¥dH & HYT P! G-AT gl %I
3. The number of vibration of the striker decreases / ISP & HYT DI G-AT gl %I
4. The number of vibration of the striker increases / IIgHX & HUA DI T EET‘?[ %I

Correct Answer :-

« The amplitude of vibration of the air column decreases / €4l IAY B HY DT T gedl %I

14) Milk of magnesia is used as: /

fore sifw AU S1 Iud 59 ¥ § far o 3:
1. Dye in textile industry / HUST ST & S5

2. Artificial sweetener / q»‘ﬁtr BT

3. Fertilizer / SaRb

4. Antacid / 3RId IR

Correct Answer :-

» Antacid / RIJIAIRID

15) In the earthquake zone, the type of buildings which gives more safety are: /
YHY &7 ¥, fFT TR &1 ARG RIS JR&T UgH Hdl 8:
1. Earthquake proof buildings / Wiﬁ ARG

2. Multistoried buildings / SgHTE AR
3. Buildings made of clay and mud / ﬁ@cf 3R U T & IART
4, Buildings made of glass and bricks / B 3R é_caf E:ASE <H Xd

Correct Answer :-

« Earthquake proof buildings / Wﬁﬁ m

16) Which of the following is a chemical change? /

Frafifea & & 1= w1 T Tt uiada &

1. Evaporation of sea water to get salt / TH® UItd FHD ferw qHx & U T AT IHR0T
2. Burning of methane / IERECASINRIl

3. Sublimation of camphor / PYX P JeduTa

4. Dissolving sugar in coffee / HI! o T "
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Correct Answer :-

« Burning of methane / PR CARSINEIl

17) Which of the following testers is less sensitive? /
frafafea & @ o1 a1 ¢wer o3 ddea3iia g1 32
1. A tester in which LED is used. /
T e Forad was <t o1 uahT fha e 2|
2. A tester in which a magnetic compass is used. /
T 2 O U Jaab 1 g (FAifeds ST &1 SUGNT {3 SiTaT B |
3. A tester in which a high watt heating filament is used. /
T xR FoH U I aTe dTuA g (@ feamie) o1 wrinT frar srar ]

4. A tester in which low watt bulb is used. /

T 2% TG &4 a1e & Fesl BT SUTNT a1 ST B |

Correct Answer :-

« A tester in which a high watt heating filament is used. /

TP xR Fo W U I= aTe a1 o (@ feamie) &1 vt fvar srar ]

18) Which of the following weighs the most? [ Atomic masses: Ag=108u,C=12u,0=16u,N=14u] /
FrafafEa 3 | frae o 9aw i 82 [ URHTY §oaHTH: Ag =108 u, C=12u,0=16u,N=14 u]
1. g of carbon/ 1 T BT

2. 0.5 mole of N-atoms / N—tITJ:ITUl&ﬁ & 0.5 UH 37|

3 10?2 atoms of silver / Toid & 1022 TXATT

4 10%? molecules of COz molecules / CO2 3']'0;{317 & 102 3]

Correct Answer :-

10?2 atoms of silver / Tad & 1032 TXAHTIT

19) To determine the melting point of ice, a thermometer is suspended in a beaker half filled with ice and kept at
the room temperature. Which thermometer reading should be noted as the melting point of ice? /

T & TP B FHeifed T & fore, ve yuitier o 96 @ ond w¥ gU ve diwr  s1a fear wrar @ oiR
PHY F dIYHE R I@ f&a1 1 21 79 ywiiier Hf$n & 9 & aqie & Fu A forg a-r afge?

1. The temperature when all the ice taken melts and water remains. /
YT, ST ot 1S O 5 e ot  ofR e 9 X8 Sar g
2. The temperature when the ice just starts to melt. /

A9, 519 g% fraer IRE gt ]

3. When the mercury level in the thermometer remains constant at a particular temperature. /
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e Ueh IR aTUHM WR yHiHeR § URe &7 TR fRR BT 8|

When the temperature just begins to increase from —2°C. /

4aaammﬁ—2°cﬂam%mm%|

Correct Answer :-
o When the mercury level in the thermometer remains constant at a particular temperature. /
O Uep faRy argHe R yHfHier # URe &1 TR RR @A

20) Green plants use which of the following to prepare food? /

IS R $3A & g 5 N e & & i SuaiT a5 82

1. Carbon dioxide, nitrate, phosphate and sunlight / HIa @E&rﬁﬁﬁ@; , q@f, BIThe 3R {(tfm UDhIRI
2. Carbon dioxide, water, minerals and sunlight / CACE EEG{\JWE@ , tIT'_‘ﬁ, @il 3R Hﬁ D[ YhIR[

3. Oxygen, carbohydrates and sunlight / &m\_ﬂ:{, EFIETE'I’S’%‘C' 3R @WW

4, Oxygen, nitrate, sulphate and sunlight / RICNIES , ?I%%A_cf, Jehe 3R ﬁifﬁ U

Correct Answer :-

« Carbon dioxide, water, minerals and sunlight / PIa 31331'\@13_6' , 13|'|7‘ﬁ, Jiolt 3R ﬁd DI YDIRT
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